AP Calculus AB | 10 Random Problems from iLearnMath.net | Name

1 5: 9:
2 6: 10:
3 7:
4 8:
Problem 1

Let fbe a differentiable function such that
f(3) =15/ff6) = 3. f(3) = —8. and f'(6) = —2.
The function g is differentiable and g(z) = f~' (=
What is the value ofe (3)?

[ SHOW ANSWER )

) for all x.

A. —1

9
5. =

8

C l

6
D. l

3

E. Cannot be determined.
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Problem 2

. Ly
The slope of the tangent to y = arctan(4x) at @ = 1 1s:

( SHOW ANSWER )

A. 2
B. 1

2
C. 0
D. -1

2
E. ~2
Problem 3

If f'(x) = (x—1)(x% 243 — x). which of the
following is NOT true about/f{#)?

A. f(x) has a horizottal tangent at x = 1
B. flx) is a polynomiallofalegree 4

C. flx) has a relative maximum at x = 3
D. flx) i1s decreasing on (-2. 1)

E. flx) is concave up on (-2, 1)



AP Calculus AB | 10 Random Problems from iLearnMath.net | Name

Problem 4

. . . o 0§
At the point of intersection of y = sin(x + _—)—) and

Sy —

-

a .
y=1-— = the tangent lines are:

(lsHOw ANS\ATER)

A.
B.
C.
D.
E.

Problem 5

identical

parallel

perpendicular

intersecting but not perpendicular
none of the above

The graph of an even function passing

through (3. -2) must also gontain:

( SHOW ANSWER )

A.

‘.'
=
e S— —
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Problem 6
oocos(E+ 1) —cos(E —x)
lim g E =
x=+() i
( SHOW ANSWER )
A. 1
B. —2
c. —].
D. 0
E. 2
Problem 7
/52"(1}( =
( SHOW ANSWER )
A. e
—+C
Inb
B. HAe '
3 B + (__‘
2Inb
C: 521+l '
1] + (—-
2r+1
D. 52 i m
2
E. (In5)5* +C
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Problem 8
25 — a2 | .
f(r) =—for o5 %H
Jv— I
and f(l) =5whenz =5

Which of the following is correct?
A. f(x) is continuous at 5 since f(x) is defined at x = 5
B. ), f(x) is continuous at 5 since lim f(x) exists

r—+5
C/A(x) is discontinuous at 5 since f{5) does not exist
D

since lim f(x) DNE

r—+9

D since lill} f(x) # f(5)

D. f(x) isdiscontinuous at

E. f(x) i3 discontinuous at

Problem 9

dy

If y=1In(2z +3). then'e—,=

N Jy)
dg®
( SHOW ANSWER )
A. 2
2r+3
B. 2
(22 + 3)2
C. |
(22 + 3)?
D. —4
(22 + 3)2
E. —2

(2z 4+ 3)2
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Problem 10

, 52+h —925
im ————— =
h—0 h
( SHOW ANSWER )

25
25InH
25¢°
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ANSWER KEY

1(256) [ A 5(41) |A 9(45) | D
2(254) | A 6(42) | B 10 (46) | D
3(39) |E 7(43) | B

4(40) | A 8(44) |E




